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5B p:3 7 B -8 3 % (%) % (%) it (%) % (%) 2 (%) it (%)
1 [BEE B/ NFRE 540  510| 1,050] 533f 499 1,032 339 (63.60) 322 (64.53) 661 (64.05) 226 (42.40) 211 (42.28) 437 (42.34)
R RAWIN = 3,186| 3,340| 6,526| 3,085| 3,254| 6,339 1,684 (54.59)| 1,858 (57.10)| 3,542 (55.88)| 1,003 (32.51)| 1,078 (33.13)| 2,081 (32.83)
3 | N 3,955| 4,278| 8,233| 3,825| 4,149 7,974| 2,214 (57.88) | 2,410 (58.09) | 4,624 (57.99)| 1,330 (34.77) | 1,441 (34.73)| 2,771 (34.75)
4 |e@mHmEARF| 1,418 1,476 2,894| 1,391| 1,442| 2,833 784 (56.36) 839 (58.18) | 1,623 (57.29) 462 (33.21) 511 (35.44) 973 (34.35)
5 | KE/NERK 3,879 4,162| 8,041 3,749| 4,048| 7,797| 2,141 (57.11)| 2,253 (65.66) | 4,394 (56.36) | 1,323 (35.29) | 1,409 (34.81) | 2,732 (35.04)
6 |BEB3ET 3,099| 3,280 6,379 2,932| 3,139 6,071| 1,686 (57.50) | 1,777 (56.61) | 3,463 (57.04) | 1,023 (34.89) | 1,077 (34.31) | 2,100 (34.59)
7 |&f=3a=54| 459 456 915| 455  447| 902| 327 (71.87) 330 (73.83) 657 (72.84) 220 (48.35) 217 (48.55) 437 (48.45)
8 |/ 2,026 2,085 4,111| 1,968| 2,043| 4,011| 1,149 (58.38) | 1,142 (55.90)| 2,291 (57.12) 832 (42.28) 833 (40.77) | 1,665 (41.51)
| 9 |z 1,165 1,142 2,307 1,140| 1,135( 2,275 670 (58.77) 644 (56.74) | 1,314 (57.76) 529 (46.40) 492 (43.35) | 1,021 (44.88)
Z; 10 [T A B 381| 388 769 374 385 759| 240 (64.17) 263 (68.31) 503 (66.27) 181 (48.40) 206 (53.51) 387 (50.99)
11 | BB 3 633 595| 1,228 621 586| 1,207 412 (66.34) 383 (65.36) 795 (65.87) 334 (53.78) 315 (53.75) 649 (53.77)
12 (MR 2L 125 106f 231 121 103 224 96 (79.34) 71 (68.93) 167 (74.55) 96 (79.34) 71 (68.93) 167 (74.55)
13 |8 R IX<AE| 1,006]  993| 1,999]  954| 974 1,928 602 (63.10) 640 (65.71) | 1,242 (64.42) 421 (44.13) 458 (47.02) 879 (45.59)
14 | AT 404| 368| 772| 394 360| 754| 216 (54.82) 193 (53.61) 409 (54.24) 148 (37.56) 137 (38.06) 285 (37.80)
15 | =R X 2 AE 144 117 261 139 114 253 96 (69.06) 73 (64.04) 169 (66.80) 69 (49.64) 58 (50.88) 127 (50.20)
16 |5k X <81 113 108 219 112 103| 215 60 (53.57) 70 (67.96) 130 (60.47) 43 (38.39) 53 (51.46) 96 (44.65)
17 |EC B R S 94 81 175 94 79 173 43 (45.74) 38 (48.10) 81 (46.82) 35 (37.23) 28 (35.44) 63 (36.42)
A&t 22,627| 23,483| 46,110| 21,887| 22,860| 44,747| 12,759 (58.29) | 13,306 (58.21) | 26,065 (58.25) | 8,275 (37.81) | 8,595 (37.60) | 16,870 (37.70)
HEET 22,627| 23,483| 46,110| 21,887| 22,860( 44,747| 12,759 (58.29) | 13,306 (58.21) | 26,065 (58.25) | 8,275 (37.81) | 8,595 (37.60) | 16,870 (37.70)
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1 [BEEH/NERE| 224 (42.03) 207 (41.48) 431 (41.76) 2 (0.38) 4 (0.80) 6 (0.58) 113 (21.20) 111 (22.24) 224 (21.71)
2 |HIL/NERE 989 (32.06) | 1,073 (32.97) | 2,062 (32.53) 14 (0.45) 5 (0.15) 19 (0.30) 681 (22.07) 780 (23.97) | 1,461 (23.05)
3 |4 /N 1,322 (34.56) | 1,429 (34.44) | 2,751 (34.50) 8 (0.21) 12 (0.29) 20 (0.25) 884 (23.11) 969 (23.36) | 1,853 (23.24)
4 |&EmEFTAF] 458 (32.93) 506 (35.09) 964 (34.03) 4 (0.29) 5 (0.35) 9 (0.32) 322 (23.15) 328 (22.75) 650 (22.94)
5 |KE /N 1,311 (34.97) | 1,392 (34.39) | 2,703 (34.67) 12 (0.32) 17 (0.42) 29 (0.37) 818 (21.82) 844 (20.85) | 1,662 (21.32)
6 |BEFT 1,010 (34.45) | 1,066 (33.96) | 2,076 (34.20) 13 (0.44) 11 (0.35) 24 (0.40) 663 (22.61) 700 (22.30) | 1,363 (22.45)
7 |Efaa=5 0 220 (48.35) 214 (47.87) 434 (48.12) | 0 (0.00) 3 (0.67) 3 (0.33) 107 (23.52) 113 (25.28) 220 (24.39)
8 | I/ NERR 828 (42.07) 827 (40.48) | 1,655 (41.26) 4 (0.20) 6 (0.29) 10 (0.25) 317 (16.11) 309 (15.12) 626 (15.61)
= | o |y 521 (45.70) 490 (43.17) | 1,011 (44.44) 8 (0.70) 2 (0.18) 10 (0.44) 141 (12.37) 152 (13.39) 293 (12.88)
?} 10 |JR{FT A Bof - 179 (47.86) 205 (53.25) 384 (50.59) 2 (0.53) 1 (0.26) 3 (0.40) 59 (15.78) 57 (14.81) 116 (15.28)
: 11 | B KT 331 (53.30) 313 (53.41) 644 (53.36) 3 (0.48) 2 (0.34) 5 (0.41) 78 (12.56) 68 (11.60) 146 (12.10)
12 | R 58 (47.93) 39 (37.86) 97 (43.30) 38 (31.40) 32 (31.07) 70 (31.25)f . @& (0.00) 8 (0.00) 0 (0.00)
13 | BRI X AH 417 (43.71) 455 (46.71) 872 (45.23) 4 (0.42) 3 (0.31) 7 (0.36) 181 (18.97) 182 (18.69) 363 (18.83)
14 | ARESZHT 144 (36.55) 137 (38.08) 281 (37.27) 4 (1.02)}. - 0 (0.00 4 (0.53) 68 (17.26) 56 (15.56) 124 (16.45)
15 | Z MK AR 69 (49.64) 58 (50.88) 127 (50.20) |« 3 (0.00) g (0.00) 0 (0.00) 27 (19.42) 15 (13.16) 42 (16.60)
16 | FEER HE X 24 43 (38.39) 53 (51.46) 96 (44.65) |. » G (0.00) .0 (0.00) 0 (0.00) 17 (15.18) 17 (16.50) 34 (15.81)
17 |EfC B 24k 35 (37.23) 28 (35.44) 63 (36.42) | . G (0.00) @ (0.00) 0 (0.00) 8 (8.51) 10 (12.66) 18 (10.40)
&t 8,159 (37.28) | 8,492 (37.15) | 16,651 (37.21) 116 (0.53) 103 (0.45) 219 (0.49) | 4,484 (20.49) | 4,711 (20.61) | 9,195 (20.55)
#wast 8,159 (37.28) | 8,492 (37.15) | 16,651 (37.21) 116 (0.53) 103 (0.45) 219 (0.49)| 4,484 (20.49) | 4,711 (20.61) | 9,195 (20.55)




